Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz

NAME: (print!) F-Y*'l C Giov CAV\Y{I N\

E-MAIL ADDRESS: (print!) &ii¢., 3?mfcmni ni@ PM’?’&IQ,V‘S‘ QAM

Everyone scoring perfectly will be listed in the webpage
http://www.math.rutgers.edu/ zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.
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1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed .
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.

Solve qA#77B= |
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2. Find all smgle—dlglts zandy (0 <z <9, 0 <y S s ch ghat the f\ﬁowmg anom
cancellation is valid (in the usual base, base 10),
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You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired. G &YW//U/’ 50{(4,4; (o W
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NAME: (print!)

E-MAIL ADDRESS: (print!) X 30 @. Saurletmadl . mi‘\ ers. edu 7 7 T |7 }

2 x ¢ o
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veryone scoring perfectly will be listed in the webpage

http://www.math.rutgers.edu/~zeilberg/mamarim/mamarimhtml/anomalous.html. TTl “De t
entry will win a book prize.

1.Ina certain' country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.

Sel . 77= X +§ 4 (37.9)=9cd (7:5)

9o Cxl +4 - =Ged(S4)
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2. Find all single-digits z and y (0 < z < 9, 0 < y < 9) such that the following anomalous
cancellation is valid (in the usual base, base 10)

‘ w,By_g:_:t}
Y582 5277

You must use the algorithm presented in the lecture, but the part that requires the Extended

Euclidean Algorithm may be done by inspection, i.f desired. 9\ _77; L2
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Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz

NAME: (printt) =0 S%M‘ [laee

E-MAIL ADDRESS: (print!) |15 658 Scattdmmatt. € M’({),\AA Y. "

Everyone scoring perfectly will be listed in the webpage
http://www.math.rutgers.edu/ zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.

1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.
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2. Find all single-digits z and y (0 < z < 9, 0 < y < 9) such that the following anomalous
cancellation is valid (in the usual base, base 10)

z By _zy
T 582 52

You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired.
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Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz
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Everyone scoring perfectly will be listed in the webpage

http://www.math.rutgers.edu/"zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.

1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and

what would he return to you as change? You must use the Extended Euclidean Algorithm. o
77=99+56 5= 17 -9-8
=5+ h= ¢ -q =9 -(77-9%) = 9-9-7y
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© S T s - (3q- )
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(54 — Isz = 1
2. Find all single-digits z and y (0 < z < 9, 0 £ y < 9) such that the following anomalous

cancellation is valid (in the usual base, base 10)
Iv3 _ 13 532 52/‘132
z By wy — = z / “ 51 /5%
C 582 52 932 ST /512

You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired.
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Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz

NAME: (print!) 504(1”7 ga”j h V/‘

E-MAIL ADDRESS: (print!) Sohum. S‘mj}“’ ;@ r«q‘yerj. eva

Everyone scoring perfectly will be listed in the webpage

http://www.math.rutgers.edu/"zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.

1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.
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2. Find all single-digits z and y (0 < z < 9, 0 £ y < 9) such that the following anomalous
cancellation is valid (in the usual base, base 10)

By _ 3y
T 532 52

You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired.
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Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz

NAME: (print!) Sheve Hy

E-MAIL ADDRESS: (print!) argu /o pysarid @ Jam.'l, Com

Everyone scoring perfectly will be listed in the webpage
http://www.math.rutgers.edu/"zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.

1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.

s =(77)-8(7)
Q:("l)vsz(q\—((vv)-gm)—_ 9(9) -(77)
)= 5=4= (- 8(D) — [agq) ~177)) = 2(77) =17(7)

goe: 1§77 @50)  change: )7 $9(§153)

2. Find all single-digits z and y (0 < z < 9, 0 < y < 9) such that the following anomalous
cancellation is valid (in the usual base, base 10)

z By _ 2y
T 582 52

You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired.
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Dr. Z.’s Oct. 2, 2017, RUMA Lecture quiz

NAME: (print!) _ AD(Tl _ DypeEIA
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Everyone scoring perfectly will be listed in the webpage
http://www.math.rutgers.edu/~zeilberg/mamarim/mamarimhtml/anomalous.html. The best
entry will win a book prize.

. 1. In a certain country there are only two kinds of bills, a 9-dollar bill and a 77-dollar bill. Supposed
that you want to pay for a cup of coffee that costs 1-dollar. What would you give the cashier, and
what would he return to you as change? You must use the Extended Euclidean Algorithm.
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S, 2= Mo N4] and Fib °{"¥

2. Find all single-digits z and y (0 < z < 9, 0 < y < 9) such that the following anomalous
cancellation is valid (in the usual base, base 10)

z By _ Yy
T 532 52

You must use the algorithm presented in the lecture, but the part that requires the Extended
Euclidean Algorithm may be done by inspection, if desired.

S

o420+ Y4 _ [(Ooxty

5x2" 7 - 52—

Croow 4 |56 Ot SHY= 5220 g}ﬂ%.

= |rownt 4ry =[S0
= D 0w+ 93—:— (60
= S é?x:}c 32

. rlé':é Om [ :._L'\nguSO(lq.
doppris et x = (3 26) d J




